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2015 ££ 8 A
JE 5 AE
S8 HERPRED =Y EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) [FHEEEEN - B/ E(HNREIIREN AR EE)
fokr 2.277 0.00 — 0.06 0.00 &
LA T 1.512 0.00 - 0.50 0.05 =
b (HCI) 4545 0.02-1.13 0.14 s
#ALE (HF) 0.306 0.01-0.23 0.03 s
—A/EWT (SO2) 15.147 0.00 — 11.00 2.68 =
—& bk (CO) 7.578 0.00 - 0.25 0.04 e
HAY) (NOx)
DIZ&/EE (NO2) 30.303 1.54 - 11.94 4.95 =
SR
(b) |[FHEEEH - HIEE (HEEIIEAARERE)
fohr 0.756 0.00 — 0.01 0.00 e
A e 0.756 0.02-0.10 0.05 =
/b= (HCI) 0.756 0.11-0.20 0.15 e
FALFE (HF) 0.072 0.02 - 0.04 0.03 s
— A bk (SO2) 3.789 1.90 - 3.12 2.67 =
—& [l (CO) 3.789 0.02 - 0.06 0.04 &
HAY) (NOx)
LL=E(EE (NO2) 15.147 3.17-7.15 4.96 yoss
SR
S8 HERPRE BER4E R R
(kg/hr) (kg/hr) (&)
() BHEN (R LEREE)
7K 0.003789 0.00019 =
o S SR 0.003789 <0.00004 =
B EEaEm 0.0378 <0.00448 &
IR R g ) 7.575 x 10°° 8.5 x 1012 =
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2015 ££ 8 A
JE& AF
S8 HERPRED =Y EE R
(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEEEN - B/ E(HNREIIREN AR EE)
fokr 2.277 0.00 — 0.89 0.03 &
LA T 1.512 0.01-0.23 0.03 =
/b= (HCI) 4,545 0.01 - 0.94 0.15 s
#ALE (HF) 0.306 0.00-0.16 0.04 s
—A/EWT (SO2) 15.147 0.00 — 6.88 2.34 =
—& bk (CO) 7.578 0.00-0.17 0.06 e
HAY) (NOx)
DIZ&/EE (NO2) 30.303 0.88 — 14.47 6.04 =
SR
(b) |[FHEEEH - HIEE (HEEIIEAARERE)
fokr 0.756 0.00 - 0.31 0.05 e
A e 0.756 0.02 - 0.06 0.04 =
/b= (HCI) 0.756 0.06 — 0.17 0.14 e
FALFE (HF) 0.072 0.01 - 0.05 0.04 s
— A bk (SO2) 3.789 1.61—2.66 2.25 =
—& [l (CO) 3.789 0.03-0.11 0.06 &
HAY) (NOx)
PAZE EE (NO2) 15.147 3.11-7.24 5.59 yoss
SR
S8 HERPRED BEaR4E R e
(kg/hr) (kg/hr) (/&)
(c) BEHEEN (HET{LEBETEE)
7K 0.003789 0.00021 =
I S S AE 0.003789 <0.00004 =
B EEaEm 0.0378 <0.00428 2
IR R g ) 7.575 x 107 6.1 x 101 =
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2015 ££ 8 A
JE & BF
S8 HERPRED =Y EE R
(kg/hr) (kg/hr) (kg/hr) (&)
(a) [FHEEEEN - B/ E(HNREIIREN AR EE)
fokr 2.277 0.02 - 1.01 0.32 &
LA T 1.512 0.01-0.51 0.05 =
/b= (HCI) 4,545 0.01-1.90 0.10 s
#ALE (HF) 0.306 0.00-0.18 0.02 s
—A/EWT (SO2) 15.147 0.01 — 6.07 2.01 =
—& bk (CO) 7.578 0.00 - 0.67 0.01 e
HAY) (NOx)
DIZ&/EE (NO2) 30.303 0.70 - 8.68 2.87 =
SR
(b) |[FHEEEH - HIEE (HEEIIEAARERE)
fokr 0.756 0.24 —0.41 0.32 e
A e 0.756 0.01-0.11 0.05 =
/b= (HCI) 0.756 0.06 — 0.21 0.10 e
FALFE (HF) 0.072 0.02 - 0.04 0.02 s
— A bk (SO2) 3.789 1.50 — 2.28 1.99 =
—& [l (CO) 3.789 0.01 - 0.04 0.01 &
HAY) (NOx)
PAZE EE (NO2) 15.147 1.36 —5.29 2.87 yoss
SR
S8 HERPRED BEER4ER R
(kg/hr) (kg/hr) (B/&)
() | BHEEN (HRF{EBATER)
7K 0.003789 0.00026 =
I S SR 0.003789 <0.00002 =
BEeEEaEm 0.0378 <0.00386 2
IR R g ) 7.575 x 107 6.3 x 10712 =




RN e
YR SRR R
2015 4E 8 A

() EFEAERILURE BT « BT R 101.325 kPa ~ SER AR EAH B » WLHFRE S
8 11% RS BEAEERIE -

(it) SRS R AR T - BIZE R AR T ELAERE SREN B Ry 10um B3] «

(i) {EARA 30 S Koo te 8 /NREHUERHAN A FI9(E - EUAEE ~ B~ 815 ~ 86 ~ 55 - 3 5 - SURSR -

(iv) £ 6 % 8/ NEFHURHRAYHS(E -

¥ 201841 H 10 H



